

Office: 940-497-4600

Date: 3/2/2020

Proposal For: City of Lewisville - Metro Park Drainage Channel

Install Underdrain System and Replace Saturated Subgrade Due to Groundwater

Item No	Description	Quantity	Units	Unit Price		Bid Price	
	Drain System						
001	Survey & Layout	1	LS	\$	1,261.95	\$	1,261.95
002	Traffic Control	1	MO	\$	1,722.97	\$	1,722.97
003	6" Underdrain System	629	LF	\$	33.23	\$	20,901.67
004	12" Underdrain System	959	LF	\$	38.97	\$	37,372.23
005	12" Outfall Pipe, incl R & R Exisiting Concrete	44	LF	\$	135.87	\$	5,978.28
	Earthwork						
006	Cut/Remove/Replace Saturated Soil - 2' Deep	441	CY	\$	51.75	\$	22,821.75
007	Crew Delays/Downtime due to Change	11	DY	\$	2,164.90	\$	23,813.90
				Total		\$	113,872.75

Additional Days: 35

Inclusions:

*** Install underdrain system in channel due to groundwater and saturated subgrade conditions. Per onsite meeting and revised drawings received 03/01/20. Includes sawcut, removal, and replacement of existing concrete channel for installation of 12" outfall piping. Export spoils generated from underdrain system. Remove existing subgrade from approx STA 11+50 to 13+25 and replace with compacted, un-saturated soil. Total CY removed/replaced may be more or less and will be charged at the unit price of \$51.75/CY. Includes perforated ADS piping at underdrain system. Total extended contract days may vary based on material encountered and CO approval timeframe.

Excludes import of suitable material, well pointing, dewatering.

Should you have any further questions or comments, please feel free to contact us:

Jason Langford

Mobile 214-422-0272 or email jlangford@wmc-i.com







Request For Information

3630 FM 2181 Hickory Creek, TX 75065 (940) 497-4600

Job:

RFI No:

Date Submitted: Date Required:

ATTN:

Subject/Title:

Request:

Response: